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Section : General English

Q1
| on these lines before I realized my mistake.
a. was worked
b. am working
c. worked
d. hbad been working
Ans X A. (a)
X B.(b)
X C.(c)
« D.(d)
Question ID : 61477210064
Status : Answered
Chosen Option : C
Q.2

Chose the correct option to complete the sentence given below.
It is difficult to say that

a. they shall agree

b. they should agree

c. they will agree

d. they would agree or not

Ans X A (a)
X B. ()
K C.(0)
« D.(d)

Question ID : 61477210061
Status : Answered
Chosen Option : C
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Q3
Find the odd word out of the options given below.
a. Expert
b. Professional
c. Civilized
d. Maestro
Ans X A (a)
X B.(b)
« C.(c)
& D.(d)
Question ID : 61477210047
Status : Answered
Chosen Option : D
Q4
Radha as well as Charu (A)/ are playing (B)/ in the room. (C)/ No error (D)
a. A
b. B
c. €
d D
Ans X A. (a)
+ B. (b)
X C.(c)
A D.(d)
Question ID : 61477210055
Status : Answered
Chosen Option : D
Q.5
Employees are not satisfied with the revised pay structure but they have
a. reconciled to it
b. reconciled with it
c. reconciled at it
d. reconciled for it
Ans A (a)
X B.(b)
X C.(c)
& D.(d)
Question ID : 61477210066
Status : Answered
Chosen Option : B
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Q.6
Choose the correct choice that can be substituted for the following.
“Extreme old age when a man behaves in an irrational manner”
a. Imbecility
b. Senility
c. Dotage
Superannuation
Ans X A. (a)
+ B.(b)
X C.(0)
X D.(d)
Question ID : 61477210054
Status : Not Answered
Chosen Option : --
Q'7 - . " - - -
Identify the word which is opposite in meaning to “SQUANDER”
a. Waste
b. Conserve
c. Presume
Donate
Ans X A (a)
+ B.(b)
X C.(c)
& D.(d)
Question ID : 61477210051
Status : Not Answered
Chosen Option : --
Q.8
Ram and Rishab performed their duties.
a. respected
b. respectful
c. respective
d. respect of
Ans X A (a)
X B. (b)
+ C.(0)
& D.(d)
Question ID : 61477210068
Status : Answered
Chosen Option : C
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1 had told him yesterday (A) / that I did not (B)/ find him(C)/ at home. (D)
a A
b. B
c. C
d D
Ans A (a)
X B.(b)
X C.(0)
X D.()
Question ID : 61477210057
Status : Answered
Chosen Option : C
Q.10
Choose the correct sentence from the options below:
a. As I was leaving home, it began to rain.
b. When leaving home, it began to rain.
c. Since | was leaving home, it began to rain.
d. Before leaving home, it began to rain.
Ans @ A (a)
X B.(b)
K C.(0)
& D.(d)
Question ID : 61477210059
Status : Answered
Chosen Option : D
Q.1
Identify the word which is similar in meaning to “ABODE”
a. Sanctuary
b. Residence
c. Reformatory
d. Dwelling
Ans X A (a)
« B.(b)
X C.(c)
& D.(d)
Question ID : 61477210050
Status : Not Answered
Chosen Option : --
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Q.12
Choose the correct meaning of the idiomatic expression “at an arm’s length”
a. To be very close.
b. Avoid to be very close.
c. To be at 3 feet distance.
d. None of the above.
Ans X A (a)
« B. (b)
X C.(0)
< D.(d)
Question ID : 61477210053
Status : Answered
Chosen Option : D
Q.13
Choose the correct meaning of the idiomatic expression “in a melting pot”
a. to take an important decision
b. to be prone to bad influences
c. ina helpless situation
d. in the process of changing
Ans X A (a)
& B.(b)
« C.(c)
& D.()
Question ID : 61477210052
Status : Answered
Chosen Option : D
Q.14 . . ) 3 i
Identify the part with grammatical error in the sentence given below.
My sister (A)/ like painting, (B)/ dancing and cooking. (C)/ No error (D)
a. A
b. B
c. C
d D
Ans X A (a)
« B. (b)
2 C.(c)
< D.(d)
Question ID : 61477210045
Status : Answered
Chosen Option : B
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Q.15
Choose the correct sentence from the options below:
a. [said to her that to give me that notebook.
b. 1asked her to give me that notebook.
c. Isaid her to give me this notebook.
d. [Itold to her to give me that notebook.
Ans X A (a)
« B. (b)
& C.(0)
X D.(d)
Question ID : 61477210060
Status : Answered
Chosen Option : B
Q.16
Select the sentence which is grammatically correct from the following:
a. The youngster will benefit from the experience.
b. The youngster will benefit by the experience.
c. The youngster will benefit of the experience.
d. The youngster will benefit out of the experience.
Ans A (a)
& B.(b)
X C.(c)
X D.(d)
Question ID : 61477210046
Status : Answered
Chosen Option : B
Q.17
Many a man (A)/ have (B)/ been arrested (C) / by the police. (D)
a A
b. B
G €
d D
Ans X A. (a)
« B.(b)
X C.(c)
&< D.(d)
Question ID : 61477210056
Status : Answered
Chosen Option : A
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Q.18
The day he received his degree was a for him.
a. historical day
b. historic day
c. history day
d. hysteric day
Ans X A (a)
« B.(b)
K C.(c)
X D.(d)
Question ID : 61477210067
Status : Answered
Chosen Option : B
Q.19
Chose the correct option to complete the sentence given below
a. She told me that
b. earth revolves
c. the earth revolves
earth revolved
Ans X A (a)
X B.(b)
« C.(c)
X D.(d)
Question ID : 61477210062
Status : Answered
Chosen Option : C
Q.20
Find the odd word out of the options given below
a. Blue
b. Crimson
c. Ruby
d. Scarlet
Ans A (a)
< B.(b)
X C.(c)
X D.(d)
Question ID : 61477210048
Status : Answered
Chosen Option : A
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Q.21
Chose the correct option to complete the sentence given below
I never have on my friends.
a. depended nor will depend
b. depended or will depend
c. nor will depend
d. or will depend
Ans A (a)
X B.(b)
X C.(c)
X D.(d)
Question ID : 61477210063
Status : Answered
Chosen Option : A
Q.22
Choose the correct sentence from the options below:
a. She 1s either right nor wrong
b. She is both right or wrong
c. She is neither right or wrong
d. She is neither right nor wrong
Ans X A (a)
X B.(b)
& C.(0)
+ D.(d)
Question ID : 61477210058
Status : Answered
Chosen Option : D
Q.23
Identify the word which is similar in meaning to “RENOUNCE”
a. Relinquish
b. Withdraw
c. Forgive
Repeat
Ans A (a)
& B.(b)
2 C.(c)
X D.(d)
Question ID : 61477210049
Status : Not Answered
Chosen Option : --
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Q.24
I look forward to you.
a. meet
b. meeting
¢. have meet
d. met
Ans X A (a)
" B. (b)
X C.(0)
< D.(d)
Question ID : 61477210069
Status : Answered
Chosen Option : A
Q.25
Rudra 1s his boss
a. angry at
b. angry with
c. angry against
d. angry for
Ans X A (a)
 B. (b)
X C.(0
/< D.(d)

Question ID : 61477210065
Status : Answered
Chosen Option : A

Section : Logical Reasoning

QA1

MEND written

9548
9458
9538
9528

o

a o T

Ans A (a)
< B. (b)
X C.(c)
X D.(d)

in that code?

In a certain code MAIN is written as ‘9364” and DEAR 1s written as "8532°. How is

Question ID : 61477210070
Status : Answered
Chosen Option : A
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.2
@ At the end of a business conference the 11 people present all shake hands with each
other once. How many handshakes will there be altogether ?
a. 55
b. 66
c. 34
d. 65
Ans A (a)
X B.(b)
&K C.(c)
X D.(d)
Question ID : 61477210087
Status : Answered
Chosen Option : C
Q.3
A man sells a file cover at a profit of 25%. Had he bought it at 25% less and sold for
25 less, he would still have gained 25%. Find the cost of the article.
a. 100
b. 40
c. 60
d. 50
Ans A (a)
X B. (b)
X C.(0)
&K D.(d)
Question ID : 61477210083
. Not Attempted and
Stalus : Marked For Review
Chosen Option : --
Q4
If the second Sunday of a month falls on the 8th, what is the date of the fourth day
after the third Saturday of that month?
a. 26
b. 15
c. 25
d 24
Ans X A (a)
X B. (b)
« C.(c)
& D.(d)
Question ID : 61477210075
Status : Answered
Chosen Option : C
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Q.5
Which word does NOT belong with the others?
a. index
b. glossary
c. chapter
d. book
Ans X A.(a)
X B.(b)
X C.(0
« D.(d)
Question ID : 61477210076
Status : Answered
Chosen Option : D
Q.6
Complete the series: E-5,G-7,1-9,K-11,7,?
a L-13,N—-H
b M-13,0-15
c. L-12,M-14
d K-12,. M-14
Ans X A (a)
" B. (b)
# C.(c)
X D.(d)
Question ID : 61477210073
Status : Answered
Chosen Option : B
Q.7
Arrange the words given below in a meaningful sequence:
1.Presentation 2.Recommendation 3. Arrival 4.Discussion 5.Introduction
a 5,3,4,1,2
b. 3,5,4,2;1
6. 3:4.1.4.2
d 531,24
Ans X A (a)
X B.(b)
" C.(c)
X D.(d)
Question ID : 61477210081
Status : Answered
Chosen Option : C

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258022214/1258022214S19D1098/1656410679845204...

11/57



6/30/22, 1:15 PM

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258022214/1258022214S19D1098/16...

Q.8
A family has one cake. The father took 1/4 of the cake and he had 3 times as much as
each of the other members had. The total number of family members is:
a.
b.
g (10
d: 12
Ans X A (a)
X B.(b)
« C.(c)
& D.(d)
Question ID : 61477210084
Status : Answered
Chosen Option : C
Q'g " - . . " ]
Which interchange of signs will correct the following equation?
35+7x5+5-6=24
a *&-—
b. +&x
c. +&+
d &+
Ans X A (a)
X B.(b)
« C.(c)
X D.(d)
Question ID : 61477210082
Status : Answered
Chosen Option : C
Q.10
Marathon is to race as hibernation is to
a. Winter
b. Bear
c. Dream
d. Sleep
Ans X A (a)
X B.(b)
X C.(0)
« D. (d)
Question ID : 61477210077
Status : Answered
Chosen Option : D
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Q.11 ;& " y
Choose the missing character from the given options:
6 7
3 4
10 11
345 460 ?
a. 535
b:. 577
c. 755
s A i
Ans X A (a)
« B.(b)
K C.(c)
X D.(d)
Question ID : 61477210091
Status : Not Answered
Chosen Option : --
Q.12 . L . .
A man climbs 30 feet at the beginning of each hour and rests for a while when he slips
back 20 feet before he again starts climbing in the beginning of the next hour. If he
begins his ascent at 8.00 a.m., at what time will he first touch a flag at 120 feet from
the ground?
a. 5PM
b. 6PM
c. 7PM
d. 6.30PM
Ans X A (a)
« B.(b)
K C.(0)
X D.(d)
Question ID : 61477210088
Status : Answered
Chosen Option : D
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Q.13

Ans

Choose the best option:

A car always has

X A (a)
X B.(b)
X C.(0)
& D. (d)

a. Driver
b. Bonnet
c. Bumper
d. Wheels

Question ID : 61477210092
Status : Answered
Chosen Option : A

Q.14

Ans

A Tiebreaker is an additional contest carried out to establish a winner among tied

contestants. Choose one situation from the options below that best represents a
Tiebreaker.

a.
b.

8

&

< A (a)
< B.(b)
2 C.(c)
« D.(d)

At halftime, the score is tied at 2-2 in a hockey match.
Serena and Maria have each secured 1 set in their match at Wimbledon.

The umpire tosses a coin to decide which team will have bat first.

SRH and RCB each finished at 140 all out.

Question ID : 61477210080
Status : Answered
Chosen Option : D
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Q.15
Safe : Secure :: Protect : ?
a. Lock
b. Guard
¢c. Sure
d. Conserve
Ans X A. (a)
 B. (b)
X C.(c)
7 D.(d)
Question ID : 61477210078
Status : Answered
Chosen Option : B
Q.16
Complete the series: BZ, HT, NN, 77, ZB
a. LF
b. SX
c. TH
d TI
Ans X A (a)
& B.(b)
« C.(c)
2 D.(d)
Question ID : 61477210072
Status : Answered
Chosen Option : C
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Q.17
Find the odd number out.
a. 11
b. 21
SRR |
d. 41
Ans X A (a)
« B.(b)
K C.(c)
& D.(d)
Question ID : 61477210074
Status : Answered
Chosen Option : A
Q.18
Complete the series: 240, 7, 120, 40, 10,
a. 180
b. 240
c. 420
d. 480
Ans X A (a)
« B.(b)
K C.(0)
X D. (d)
Question ID : 61477210071
Status : Answered
Chosen Option : A
Q.19 . . . .
A farmer built a fence around his square plot. He used 27 fence poles on each side of
the square. How many poles did he need altogether?
a. 100
b. 102
c. 104
d. 108
Ans X A (a)
X B.(b)
« C.(c)
& D.(d)
Question ID : 61477210085
Status : Answered
Chosen Option : D
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Q.20
Read the following statement and identify the correct choice:
“Anger is energy in a more proactive way and how to channelize it is itself a
skill.”
Assumptions: I: Anger needs to be channelized.
Assumption II: Only skilful people can channelize anger to energy.
a. only assumption | is implicit.
b. only assumption Il is implicit.
c. either I or Il is implicit.
d. ifneither I or Il is implicit.
Ans X A (a)
« B. (b)
# C. (o)
& D.(d)
Question ID : 61477210079
Status : Answered
Chosen Option : B
Q.21 . 1 .
First bunch of bananas has 7 again as many bananas as a second bunch. If the second
bunch has 3 bananas less than the first bunch, then the number of bananas in the first
bunch is
a 9
b. 10
12
5
Ans X A (a)
& B.(b)
K C.(0)
" D.(d)
Question ID : 61477210094
Status : Answered
Chosen Option : C
Q.22
In a group of cows and hens. the number of legs are 14 more than twice the number of
heads. The number of cows is:
a 5
b.
c. 10
d B
Ans X A (a)
" B. (b)
K C.(0)
& D.(d)
Question ID : 61477210086
Status : Not Answered
Chosen Option : --
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Q.23

Ans

Sachin walks a certain distance and comes back on a scooter, taking a total time of 40
minutes. He could walk both ways in 60 minutes. How long would it take for him to
ride scooter both ways? Scooter speed is assumed as constant.

a. 15 minutes

b. 20 minutes

c. 25 minutes

d. 30 minutes

< A (a)
« B.(b)
& C.(c)
< D.(d)

Question ID : 61477210089
Status : Answered
Chosen Option : B

Q.24

Ans

A tree always has which of the following:

a. Branches
b. Leaves

c. Fruits

d. Roots

X A (a)
& B.(b)
< C.(0)
& D.(d)

Question ID : 61477210093
Status : Answered
Chosen Option : D
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Q.25

Ans

Choose the missing character from the given options:

5 2
4 1
8 3 10
40 30 ?
a. 10
b. 12
¢ 13
d. 20
o A (a)
& B.(b)
< C.(0)
< D.(d)

Question ID : 61477210090
Status : Not Answered
Chosen Option : --
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Comprehension:

The speed of a train over a 3-hour period was as follows (the time count does not

begin from the starting of train)

Time Speed at the

(in minutes) | given time
(in km/hour)

0 35

30 41

45 44

60 47

90 53

120 59

150 65

180 71

SubQuestion No : 1

a What is the total distance travelled by the train over this 3-hour period?
a. 459 km
b. 159km
c. 385km
d. None of these
Ans X A (a)
« B. (b)
X C.(c)
& D.(d)

Question ID : 61477210099
Status : Not Answered
Chosen Option : --
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Comprehension:

The speed of a train over a 3-hour period was as follows (the time count does not

begin from the starting of train)

Time Speed at the

(in minutes) | given time
(in km/hour)

0 35

30 41

45 44

60 47

90 53

120 59

150 65

180 71

SubQuestion No : 2

Q.2
During the three-hour period shown in the table, the speed of the train increased by

%
119.42
65.68
97.22
102.85

o oo

B

Ans X A (a)
# B. (b)
K C.(0)
« D.(d)

Question ID : 61477210097
Status : Answered
Chosen Option : D
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Comprehension:

The speed of a train over a 3-hour period was as follows (the time count does not

begin from the starting of train)

Time Speed at the

(in minutes) | given time
(in km/hour)

0 35

30 41

45 44

60 47

90 53

120 59

150 65

180 71

SubQuestion No : 3

Qs How fast was the train travelling 2 hours after the beginning of the time period (in

km/hour)
a. 65
b. 67
& 59
d. None of these

Ans X A (a)
< B. (b)

& C.(0)
X D.(d)

Question ID : 61477210096
Status : Answered
Chosen Option : A

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258022214/1258022214S19D1098/1656410679845204...  22/57



6/30/22, 1:15 PM https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258022214/1258022214S19D1098/16...

Comprehension:

The speed of a train over a 3-hour period was as follows (the time count does not

begin from the starting of train)

Time Speed at the

(in minutes) | given time
(in km/hour)

0 35

30 41

45 44

60 47

90 53

120 59

150 65

180 71

SubQuestion No : 4

Q4 . I _— . . .
At time t, measured in minutes after the beginning of the time period, which of the

following gives the speed of the train in accordance with the table?
8, IFTHS
b. t2+t3+1/4
c. t5+t/7
d. None of these

Ans o A (a)
X B.(b)
# C.(c)
X D.(d)

Question ID : 61477210098
Status : Answered
Chosen Option : A
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Comprehension:

The speed of a train over a 3-hour period was as follows (the time count does not

begin from the starting of train)

Time Speed at the

(in minutes) | given time
(in km/hour)

0 35

30 41

45 44

60 47

90 53

120 59

150 65

180 71

SubQuestion No : 5
Q.5

If the same formula for the speed of the train was valid even before the data given in
the table, at what time (before the start of the as per given table) would the train have
started?

a.  35/12 hours

b. 12/35 hours
7/2 hours
2/7 hours

‘f_‘.|

B

Ans o A (a)
& B.(b)
& C.(c)
X D.(d)

Question ID : 61477210100
Status : Answered
Chosen Option : B
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Comprehension:
A survey of movie goers from five cities A, B, C, D and E is given below. The first
column gives the percentage of viewers in each city who waich less than one movie a

week. The second column gives the total number of viewers who view one or movies

per week.
City I 1l
A 60 2400
B 20 3000
C 85 2400
D 55 2700
E 75 8000

SubQuestion No : 6

e A city with the second lowest number of movie watchers is:
a. CityE
b. City D
c. CityB
d CityC
Ans X A (a)
& B.(b)
X C.(0)
X D.(d)

Question ID : 61477210104
Status : Answered
Chosen Option : B
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Comprehension:
A survey of movie goers from five cities A, B, C, D and E is given below. The first
column gives the percentage of viewers in each city who waich less than one movie a

week. The second column gives the total number of viewers who view one or movies

per week.
City I 1l
A 60 2400
B 20 3000
C 85 2400
D 55 2700
E 75 8000

SubQuestion No : 7

v The highest number of movie watchers in any given city is
a. 36000
b. 32000
c. 16000
d. 6000
Ans X A (a)
« B. ()
# C.(c)
& D.(d)

Question ID : 61477210105
Status : Answered
Chosen Option : B

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258022214/1258022214S19D1098/1656410679845204...
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Comprehension:

per week.
City I 1l
A 60 2400
B 20 3000
C 85 2400
D 55 2700
E 75 8000

Q.8
per week is
a. 50000
b. 36000
c. 18500
d. 45250
Ans X A (a)
X B.(b)
# C.(c)
« D.(d)

SubQuestion No : 8

A survey of movie goers from five cities A, B, C, D and E is given below. The first
column gives the percentage of viewers in each city who waich less than one movie a

week. The second column gives the total number of viewers who view one or movies

The total number of all movie goers in the five cities who watch less than one movie

Question ID : 61477210106
Status : Answered
Chosen Option : A

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258022214/1258022214S19D1098/1656410679845204...
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Comprehension:
A survey of movie goers from five cities A, B, C, D and E is given below. The first
column gives the percentage of viewers in each city who waich less than one movie a

week. The second column gives the total number of viewers who view one or movies

per week.
City I 1l
A 60 2400
B 20 3000
C 85 2400
D 55 2700
E 75 8000

SubQuestion No : 9

e How many viewers in city C watch less than one movie a week?
a. 2040
b. 13600
c. 16000
d. 3600
Ans X A (a)
« B. ()
# C.(c)
X D.(d)

Question ID : 61477210102
Status : Answered
Chosen Option : C
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Comprehension:

per week.
City I 1l
A 60 2400
B 20 3000
C 85 2400
D 55 2700
E 75 8000

Ans o A (a)

SubQuestion No : 10

Q.10
week?
a. CityE
b. CityD
c. CityB
d. CityC

A survey of movie goers from five cities A, B, C, D and E is given below. The first
column gives the percentage of viewers in each city who waich less than one movie a

week. The second column gives the total number of viewers who view one or movies

Which city has the highest number of viewers who watch less than one movie a

Question ID : 61477210103
Status : Answered
Chosen Option : A
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Comprehension:
Two products P and Q can be made on cither of the two extrusion machines M1 and
M2. The time in minutes, taken by these products according to the machines used are
given as below. Assume 8 working hours per day.
Product M1 M2
P 8 10
Q 6 6
SubQuestion No : 11
Q1
If each product requires working on both the machines and the time required on each
machine is as indicated in the table, what is the maximum production possible in a day,
assuming only P is produced?
a. 80
b. 180
c. 60
d. 48
Ans X A (a)
& B.(b)
< C.(c)
o D. (d)
Question ID : 61477210111
Status : Answered
Chosen Option : B
Comprehension:
Two products P and Q can be made on cither of the two extrusion machines M1 and
M2. The time in minutes, taken by these products according to the machines used are
given as below. Assume 8 working hours per day.
Product M1 M2
P 8 10
Q 6 6
SubQuestion No : 12
Q12 If P and Q are produced in the ratio 3: 1. what 1s maximum of total of P and Q that can
be produced in a day?
a. 120
b. 160
c. 116
d. 166
Ans o A (a)
#< B.(b)
< C.(c)
#< D.(d)
Question ID : 61477210108
. Not Attempted and
Status : Marked For Review
Chosen Option : --
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Comprehension:

Two products P and Q can be made on cither of the two extrusion machines M1 and
M2. The time in minutes, taken by these products according to the machines used are

given as below. Assume 8 working hours per day.

Product M1 M2
P 8 10

Q 6 6

SubQuestion No : 13

Q.13
The cost of working of machine M1 is Rs. 1000/hour and that of machine M2 is Rs.

800/hour. What is the minimum cost of preducing 100 units of P and 100 units of Q?

a. Rs. 23333
b. Rs. 21333
Rs.213.33
Rs. 26666

o

a

Ans X A (a)
« B. (b)
< C.(c)
2 D.(d)

Question ID : 61477210109
Status : Not Answered
Chosen Option : --

Comprehension:

Two products P and Q can be made on cither of the two extrusion machines M1 and
M2. The time in minutes, taken by these products according to the machines used are

given as below. Assume 8 working hours per day.

Product M1 M2
P 8 10

Q 6 6

SubQuestion No : 14

Q.14
If P is produced only on machine M1 and Q is produced only on machine M2. What is

the unutilised time on M2 in a day, if P and Q are produced in 1:1 ratio?

a. 20 minutes
b. 60 minutes
c. 120 minutes
d. 150 minutes

Ans X A (a)
& B.(b)
" C.(c)
# D.(d)

Question ID : 61477210110
Status : Answered
Chosen Option : C

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258022214/1258022214S19D1098/1656410679845204...

31/57



6/30/22, 1:15 PM

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258022214/1258022214S19D1098/16...

Comprehension:

given as below. Assume 8 working hours per day.

Product M1 M2
P 10
Q 6

SubQuestion No : 15
Q.15

Ans X A (a)
« B. ()
# C.(c)
& D. (d)

a. 86 minutes
b. 96 minutes
c. 90 minutes
d. 108 minutes

What is the unutilised time for machine M1

Two products P and Q can be made on cither of the two extrusion machines M1 and

M2. The time in minutes, taken by these products according to the machines used are

Question ID :
Status :

Chosen Option :

61477210112

Not Attempted and
Marked For Review
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Comprehension:

In a school of 2500 students, the students are taught four different languages, viz.
English, Hindi. Punjabi and Sanskrit. The ratio of girls to boys in the school is 3:2. 16%
of the boys learn only Punjabi. 23% of the girls learn only Punjabi and Hindi. 14% of
the total number of students lcarn only English. Boys learning only Punjabi and Hindi
are 120% of the girls learning the same. One-tenth of the boys learn only Sanskrit. Girls
learning only Punjabi are 130% of the boys learning the same. 19% of the boys learn
only English. Remaining boys learn only Sanskrit, Hindi and English. 32% of the girls

learn only Hindi and Sanskrit. Remaining girls learn only Hindi, English and Sanskrit.

SubQuestion No : 16

Q.16
What is the total number of girls learning English and Sanskrit?
a. 787
b. 867
c. 947
d. 897
Ans X A (a)
X B. (b)
« C.(0)
& D.(d)

Question ID : 61477210114
Status : Not Answered
Chosen Option : --
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Comprehension:

In a school of 2500 students, the students are taught four different languages, viz.
English, Hindi. Punjabi and Sanskrit. The ratio of girls to boys in the school is 3:2. 16%
of the boys learn only Punjabi. 23% of the girls learn only Punjabi and Hindi. 14% of
the total number of students lcarn only English. Boys learning only Punjabi and Hindi
are 120% of the girls learning the same. One-tenth of the boys learn only Sanskrit. Girls
learning only Punjabi are 130% of the boys learning the same. 19% of the boys learn
only English. Remaining boys learn only Sanskrit, Hindi and English. 32% of the girls

learn only Hindi and Sanskrit. Remaining girls learn only Hindi, English and Sanskrit.

SubQuestion No : 17

Q.17
What is the total number of boys learning Hindi?
a. 480
b. 550
c. 620
d. 650
Ans X A (a)
« B.(b)
# C.(c)
& D.(d)

Question ID : 61477210117
Status : Not Answered
Chosen Option : --
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Comprehension:

In a school of 2500 students, the students are taught four different languages, viz.
English, Hindi. Punjabi and Sanskrit. The ratio of girls to boys in the school is 3:2. 16%
of the boys learn only Punjabi. 23% of the girls learn only Punjabi and Hindi. 14% of
the total number of students lcarn only English. Boys learning only Punjabi and Hindi
are 120% of the girls learning the same. One-tenth of the boys learn only Sanskrit. Girls
learning only Punjabi are 130% of the boys learning the same. 19% of the boys learn
only English. Remaining boys learn only Sanskrit, Hindi and English. 32% of the girls

learn only Hindi and Sanskrit. Remaining girls learn only Hindi, English and Sanskrit.

SubQuestion No : 18

Q.18
How many students study at least two languages at a time?
a. 1582
b. 1462
c. 1670
d. 1682
Ans X A (a)
X B.(b)
X C.(0)
« D.(d)

Question ID : 61477210116
Status : Not Answered
Chosen Option : --
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Q.19

Ans

Comprehension:

In a school of 2500 students, the students are taught four different languages, viz.
English, Hindi. Punjabi and Sanskrit. The ratio of girls to boys in the school is 3:2. 16%
of the boys learn only Punjabi. 23% of the girls learn only Punjabi and Hindi. 14% of
the total number of students lcarn only English. Boys learning only Punjabi and Hindi

are 120% of the girls learning the same. One-tenth of the boys learn only Sanskrit. Girls

learning only Punjabi are 130% of the boys learning the same. 19% of the boys learn

only English. Remaining boys learn only Sanskrit, Hindi and English. 32% of the girls

learn only Hindi and Sanskrit. Remaining girls learn only Hindi, English and Sanskrit.

SubQuestion No : 19

How many girls do not learn Hindi?

¢ A @)
X B.(b)
X C.()
X D.(d)

368
416
346
428

Question ID : 61477210118
Status : Not Answered
Chosen Option : --
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Comprehension:

In a school of 2500 students, the students are taught four different languages, viz.
English, Hindi. Punjabi and Sanskrit. The ratio of girls to boys in the school is 3:2. 16%
of the boys learn only Punjabi. 23% of the girls learn only Punjabi and Hindi. 14% of
the total number of students lcarn only English. Boys learning only Punjabi and Hindi
are 120% of the girls learning the same. One-tenth of the boys learn only Sanskrit. Girls
learning only Punjabi are 130% of the boys learning the same. 19% of the boys learn
only English. Remaining boys learn only Sanskrit, Hindi and English. 32% of the girls

learn only Hindi and Sanskrit. Remaining girls learn only Hindi, English and Sanskrit.

SubQuestion No : 20

Q.20
What is the total number of students leaning Punjabi?
a. 1017
b. 1464
c. 1024
g. 1127
Ans X A (a)
X B.(b)
K C.(0)
« D.(d)

Question ID : 61477210115
Status : Not Answered
Chosen Option : --
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200
150
100

50

30
20 |

10 |

Q.21

Ans X A (a)
# B.(b)
# C.(c)
« D.(d)

2015

a.
b.

B

Comprehension:

120

2016

Answer the questions from (71-75) on the basis of the two figures given below:

Income (in Lacs of Rs.)

180
160 170
I BD I I .

2017 2018 2019 2020 2021

Profit as a percentage of Income over the
Years

2016

SubQuestion No : 21

2018
2019
2020
2021

275

2017 2018 2019 2020 2021 2022

In which of the following years the amount of profit was maximum?

Question ID : 61477210120
Status : Answered
Chosen Option : D
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Comprehension:

Answer the questions from (71-75) on the basis of the two figures given below:

Income (in Lacs of Rs.)
200

= iy 180
150 120 130 0
100
.
0

2016 2017 2018 2019 2020 2021

Profit as a percentage of Income over the
Years

30
275

20 |

10 |

2015 2016 2017 2018 2019 2020 2021 2022

SubQuestion No : 22

e What was the expenditure for the year 20207
a. 136
b. 140.25
c. 144
d. 142
Ans X A (a)
X B.(b)
« C.(c)
&K D.(d)

Question ID : 61477210123
Status : Answered
Chosen Option : C
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Comprehension:

Answer the questions from (71-75) on the basis of the two figures given below:

Income (in Lacs of Rs.)

200 T 170 180
150 120 130 9
100

50

0

2016 2017 2018 2019 2020 2021
Profit as a percentage of Income over the
Years
30
275

20 |
10 |

8]

2015 2016 2017 2018 2019 2020 2021 2022

SubQuestion No : 23

Q.23
In which year maximum amount of rise or fall was observed in profit (in Rs.) in

comparisan to previous year?
a. 2016
b. 2017
c. 2020
d. 2021

Ans X A (a)
« B. (b)
# C.(c)
/< D.(d)

Question ID : 61477210122
Status : Answered
Chosen Option : D
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Comprehension:

Answer the questions from (71-75) on the basis of the two figures given below:

Income (in Lacs of Rs.)

200 T 170 180
150 120 130 9
100
50
0
2016 2017 2018 2019 2020 2021
Profit as a percentage of Income over the
Years
30
275
20 |
10 |
8]

2015 2016 2017 2018 2019 2020 2021 2022

SubQuestion No : 24

e For which year expenditure was minimum?
a. 2016
b. 2018
c. 2020
d. 2021
Ans X A (a)
X B.(b)
# C.(c)
« D.(d)

Question ID : 61477210124
Status : Answered
Chosen Option : D
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200
150
100

50

30
20 |

10 |

Q.25

Ans o A (a)
& B.(b)
< C.(c)
X D.(d)

2015

a.

b.

o

Comprehension:

120

2016

Answer the questions from (71-75) on the basis of the two figures given below:

Income (in Lacs of Rs.)

180
160 170
I BD I I .

2017 2018 2019 2020 2021

Profit as a percentage of Income over the
Years

2016

SubQuestion No : 25

2018
2019
2020
2021

275

2017 2018 2019 2020 2021 2022

In which of the following years the amount of profit was maximum?

Question ID : 61477210121
Status : Answered
Chosen Option : C
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Comprehension:
Study the following graph carefully and answer the questions that follow.

Number of players (in hundred) participated in a sports
event in three different sports in six different years

—a— Athletics —=— Football —a— Hockey

351~

25+

20+

15+

104

Number of Players (in hundred)

2006 2007 2008 2009 2010 2011
Years

SubQuestion No : 26

Q.26
Total number of players participated in all the sports together in the year 2007 was

approximately, what per cent of the total number players participated in football over
all the years together?

a 35%
b. 44%
c. 49%
d. 51%
Ans X A (a)
" B. (b)
< C.(0
& D.(d)

Question ID : 61477210130
Status : Answered
Chosen Option : A
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Comprehension:
Study the following graph carefully and answer the questions that follow.

Number of players (in hundred) participated in a sports
event in three different sports in six different years

—a— Athletics —=— Football —a— Hockey

351~

25+

20+

15+

104

Number of Players (in hundred)

2006 2007 2008 2009 2010 2011
Years

SubQuestion No : 27

Q.27
What was the difference between the number of players participated in athletics in the

year 2010 and the number of players participated 1n hockey in the year 20097
a. 660
b. 500
580
d. 700

o

Ans X A (a)
« B. ()
K C.(0
& D.(d)

Question ID : 61477210126
Status : Answered
Chosen Option : B
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Comprehension:
Study the following graph carefully and answer the questions that follow.

Number of players (in hundred) participated in a sports
event in three different sports in six different years

—a— Athletics —=— Football —a— Hockey

351~

251

20+

Number of Players (in hundred)

2006 2007 2008 2009 2010 2011
Years

-

SubQuestion No : 28

Q.28
What was the approximate per cent decrease in the number of players participated in

football in the year 2008 as compared to previous year?
30%
34%
44%
48%

e n oo P

Question ID : 61477210129
Status : Answered
Chosen Option : B
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Comprehension:
Study the following graph carefully and answer the questions that follow.

Number of players (in hundred) participated in a sports
event in three different sports in six different years

—a— Athletics —=— Football —a— Hockey

351~

25+

20+

15+

104

Number of Players (in hundred)

2006 2007 2008 2009 2010 2011
Years

SubQuestion No : 29
Q.29
1t 23% of the players participated in athletics in the year 2006 found positive in

doping test, what was the number of players participated in athletes in the year 2006
found negative in doping test?

a. 1048
b. 1026
1064
1078

a

B

Ans X A (a)
< B.(b)
75 C.(c)
w D.(d)

Question ID : 61477210128
Status : Answered
Chosen Option : D
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Comprehension:
Study the following graph carefully and answer the questions that follow.

Number of players (in hundred) participated in a sports
event in three different sports in six different years

—a— Athletics —=— Football —a— Hockey

351~

301

25+

20+

15+

104

Number of Players (in hundred)

2006 2007 2008 2009 2010 2011
Years

SubQuestion No : 30
Q.30

What was the approximate average number of players participated in hockey over all
the years together?

a. 2034
b. 2104
2046
2146

&

B

Ans A (a)
X B.(b)
72X C.(c)
&K D.(d)

Question ID : 61477210127
Status : Answered
Chosen Option : C
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Q.31

Ans

Comprehension:

Study the following table and answer the question given below it.

Classification of 100 students based on the marks obtained by them in
Physics and Chemistry in an examination
Subjects Marks out of 50
40 and 30 and 20and | 10 and 0 and
above above above | above above
Physics 9 32 80 92 100
Chemistry | 4 21 66 81 100
Average 7 27 73 87 100
(aggregate)

SubQuestion No : 31

If at least 60% marks in Physics are required for pursuing higher studies in Physics,

how many students will be eligible to pursuing higher studies in it?

a. 27
b: 32
c. 34
d. 41

X A (a)
« B.(b)
# C.(c)
& D.(d)

Question ID : 61477210133
Status : Answered
Chosen Option : D
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Q.32

Ans

Comprehension:

Study the following table and answer the question given below it.

Classification of 100 students based on the marks obtained by them in
Physics and Chemistry in an examination
Subjects Marks out of 50
40 and 30 and 20and | 10 and 0 and
above above above | above above
Physics 9 32 80 92 100
Chemistry | 4 21 66 81 100
Average 7 27 73 87 100
(aggregate)

SubQuestion No : 32

What is the number of students scoring less than 40% marks in aggregate?
a. 13
b. 19
c. 20
d 27
72X A (a)
< B.(b)
X C.(c)
« D.(d)

Question ID : 61477210135
Status : Answered
Chosen Option : D
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Q.33

Ans

Comprehension:

Study the following table and answer the question given below it.

Classification of 100 students based on the marks obtained by them in
Physics and Chemistry in an examination
Subjects Marks out of 50
40 and 30 and 20and | 10 and 0 and
above above above | above above
Physics 9 32 80 92 100
Chemistry | 4 21 66 81 100
Average 7 27 73 87 100
(aggregate)

SubQuestion No : 33

What is the difference between the number of students passed with 30 as cut-off

marks in Chemistry and those passed with 30 as cut-off marks in the aggregate?

a.
b.

o o
fo R & TN - §% ]

7 A (a)
< B.(b)
< C.(0
« D. ()

Question ID : 61477210132
Status : Answered
Chosen Option : D
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Q.34

Ans

Comprehension:

Study the following table and answer the question given below it.

Physics and Chemistry in an examination

Classification of 100 students based on the marks obtained by them in

Subjects Marks out of 50
40 and 30 and 20and | 10 and 0 and
above above above above above
Physics 9 32 80 92 100
Chemistry 4 21 66 81 100
Average 7 27 13 87 100
(aggregate)

SubQuestion No : 34

Ifit is known that at least 23 students were eligible for a symposium on Chemisiry, then

the minimum qualifying marks in Chemistry for eligibility to symposium would lie in

the range

a. 40-45
b. 30-40
20-30
below 20

a

=

X A ()
X B.(b)
¥ C.(0)
X D.(d)

Question ID : 61477210136
Status : Answered
Chosen Option : C
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Comprehension:

Study the following table and answer the question given below it.

Classification of 100 students based on the marks obtained by them in
Physics and Chemistry in an examination
Subjects Marks out of 50
40 and 30 and 20 and | 10 and 0 and
above above above | above above
Physics 9 32 80 92 100
Chemistry | 4 21 66 &1 100
Average 7 27 73 87 100
(aggregate)

SubQuestion No : 35

Q.35
The percentage of number of students getting at least 60% marks in Chemistry over

those at least 40% marks in aggrepate, is approximately?

a.  26%
b. 27%

29Y%
d. 31%

g

4
o
A

Question ID : 61477210134
Status : Answered
Chosen Option : B

Section : General Awareness

Q.1
Which of the following are the components of Digital Economy?
a. e-business
b. e- business infrastructure
Cc. e-commerce
all the above
Ans X A (a)
X B.(b)
& C. (o)
o« D. (d)

Question ID : 61477210146
Status : Answered
Chosen Option : D
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Q.2
India’s first Human Space Mission is known as
a. Vyom Mitra
b. Mangalyaan
c. Shukrayaan
d. None of the above
Ans X A. (a)
& B.(b)
< C.(c)
" D.(d)
Question ID : 61477210143
Status : Answered
Chosen Option : A
Q3 . . . . e
Which of the following are conferred with the power to prepare and maintain SEBCs
list under thel05th Constitutional Amendment Act?
a. Union of India
b. Concerned States
c. Concerned Union Territories
d. All the above
Ans X A (a)
# B.(b)
K C.(c)
« D.(d)
Question ID : 61477210142
Status : Not Answered
Chosen Option : --
Q.4
Nobel prize in Chemistry for the year 2021 was awarded to
a. Benjamin List
b. David MacMillan
c. Botha&b
d. Neitheranorb
Ans X A (a)
& B.(b)
« C.(c)
K D.(d)
Question ID : 61477210147
Status : Not Answered
Chosen Option : --
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Q.5
Pulitzer Prize 1s awarded for outstanding work in the field of
a. Science and Technology
b. Environmental Studies
c. International Understanding
Literature and Journalism
Ans X A (a)
< B. (b)
2 C.(c)
o D.(d)
Question ID : 61477210151
Status : Answered
Chosen Option : A
Q.6
Ukraine’s currency is called
a. Forint
b. Lempira
c. Hryvnia
d. Kina
Ans X A (a)
X B.(b)
« C.(c)
< D.(d)
Question ID : 61477210149
Status : Answered
Chosen Option : C
a7 Who among the following is the sitting Chief Justice of Supreme Court of India ?
a. Justice DY Chandrachud
b. Justice L Nageswara Rao
c. Justice Vipin Sanghi
d. None of the above
Ans X A (a)
X B.(b)
X C.(c)
« D.(d)
Question ID : 61477210137
Status : Answered
Chosen Option : C
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Q.8
The type of US Visa issued to intra company managers or cxecutives is:
a. HIB
b. RI1
g 0O
d. L1
Ans X A (a)
X B. (b)
K C.(0)
o D. (d)
Question ID : 61477210145
Status : Not Answered
Chosen Option : --
Q.9
The second largest Public Sector Bank in India as on January 2022 is:
a. State Bank of India
b. Bank of Baroda
c. Punjab National Bank
d. Canara Bank
Ans X A (a)
X B.(b)
« C.(c)
X D.(d)
Question ID : 61477210138
Status : Answered
Chosen Option : A
Q.10
The State that was ranked at 1st position as per Ease of Doing Business Index of States
and Union Territories 2021 is:
a. Andhra Pradesh
b. Uttar Pradesh
c. Maharashtra
d. Telangana
Ans @ A (a)
< B. ()
< C.(0)
X D.(d)
Question ID : 61477210144
Status : Not Answered
Chosen Option : --
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Q1
An Era of Darkness: The British Empire in India was written by
a. Geetanjali Shree
b. Shashi Tharoor
¢. Amitav Ghosh
d. Vikram Seth
Ans X A. (a)
« B.(b)
&K C.(c)
X D.(d)
Question ID : 61477210150
Status : Not Answered
Chosen Option : --
Q.12
David Card has received Nobel Prize for his
a. methodological contributions to analysis of causal relationships
b. empirical contributions to labour economics
¢. contribution to the improvements in auction theory
d. experimental approach to alleviating global poverty
Ans X A (a)
« B.(b)
X C.(c)
< D.(d)
Question ID : 61477210148
Status : Not Answered
Chosen Option : --
Q.13 . . - .
According to the UN World Happiness Report 2022, India is ranked at  position.
a. 136th
b. 143rd
c. 141st
d. 112th
Ans A (a)
X B.(b)
X C.(c)
& D.(d)
Question ID : 61477210139
Status : Answered
Chosen Option : C
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Q.14

Which country among the following is ranked lowest in the Environmental

Performance Index 20227

a. Pakistan
h. Bangladesh

c. Nigeria
d. India
Ans X A. (a)
& B.(b)
X C.(0
« D.(d)

Question ID : 61477210140
Status : Answered
Chosen Option : C

Q.15
Wassenar Arrangement is related to;

a. Nuclear Fuel Supply Control

b. Commercial Aircrafts Supply Control
c. Missile Technology Transfer Control
d. Arms Export Control

Ans X A (a)
& B.(b)
X C.(0)
& D.(d)

Question ID : 61477210141
Status : Not Answered
Chosen Option : --
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